63324

Third Semester B.Com. Degree Examination,
November/December 2019
(CBCS — Semester Scheme)
Commerce
Paper 3.6 - QUANTITATIVE ANALYSIS FOR BUSINESS DECISION -1

Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answer should be written completely either in English or in
Kannada.

SECTION - A/Qweri - &

Answer any FIVE sub-questions. Each sub-question carries 2 marks : (5 x 2 = 10)
QdRF)WWTR 0E) SVB-BINIIT evzd. T3 ouz-ZB1 2 wozne :

1. (a) Whatis meant by negative correlation?
3DTHIIT ABFOW0T HOBBERO?

(b) If bxy =-0.5, byx=-1.3, obtain 7.
bxy =-0.5, byx =-1.3 @3 'R), 5om) &BOWD.

(c) Define the tem ‘regression’. _ L5 A

02T 0D, R TR JNy ~)
o p/ARIC i
(d) Expand (y-1)* =0. DN | o A 4
'.7. . H _‘_—_-// ol s
(y-1)* = 0 wwsy 308, 5 s e Lo

(¢) What are the objectives of sampling?
vepinfelevt) wc&eéﬁ%’aﬂiéﬁﬁ?\;.

(f) What is an event?
P33 0BBeR0?

(g) State any two uses of analysis of time series.
AB00DT 70edad) adRF)HIwBTR HVE guFadeennym), $92.
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SECTION - B/Qyern - @

Answer any THREE of the following questions. Each question carries 6 marks :
(3 %6 =18)
39500 0INF)TW0 Facd BFNI evgdr. B8 BB 6 0BMeL

2. Ranks given in a beauty competition assigned by two judges as follows :
FRorodF BEFOE, QYD 3e3FRMOT T8 BUNT03 Bedndmy AeRCIZT :

¥ fl 1 £ ‘qH ﬁ[“;}.-:
Judge X : 0D 856410 47 . jﬂifj
e3ReRMeU X ! — :
Judge Y : Bt srbiaBio T nubi 2 we WD v-4u o i ;i;;:*122 ;
- ~ GF - 563 o
SSnEgmU Y ¢ L LI ZANY;
17‘7‘-“_'_ ._-——/'. 7 g
08 e e
Calculate rank correlation coefficient. e e b

B ee8 IBROWOT FBMIDTDT 0w &BOWLD.

3. Obtain the two regression equations from the following data :
g1t BoIBON BEy08R0T H0WO 80803 FAETTHNYTY, FoB) &HBOWD :

X =25, Y =10,0,218; o,=20;%= %4

4. BEstimate the production for the year 2025, using binomial expansion method
from the following data :

20158 su3@nsodd), 8 3JNT B3080 ZH20LBOT WSeo0dber Q308 T 304 !

Year :
S=e 1965 1975 1985 1995 2005 2015

Production (in 000 tonnes) :
evmpd (000 L rvd) : 25 gEenEy. 38 D

S

5. From a pack of 52 playing cards, a card is drawn at random. What is the
probability that it is

(a) Red
(b) Queen
(c) Either Queen or Ace

52 Agts® L amdu“aod 2050 DB, cadoudm’naﬁ N arTat
() Bom) Hesodm) Iricdss Bogg=deadd =7

(b) Ooes a0 riodws BoyiBReadsd aBy?

(c) voed v vF° S0, Srtadoa BoydRdecdd am)y?

6. What are the different types of probability and non probability sampling
techniques?

BognDeodd F3) RopsdeaBober DG NGO 0 neh o3RRR)?
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SECTION - C/ % - &

Answer any THREE of the following questions. Each question carries 14 marks :
(8 x 14 = 42)
BY50% 0l werte SRt BBV ev3dk. I8 JB 14 Bosried

From the following data calculate Karl Pearson’s correlation coefficient between
average profits and average advertisement expenditure per shop,

BI1t BREITOT I&bIooT =8 worBod 30eRd ey S0Z) FTUIRD &C0D) ZSu’uﬁ@ T@IS

QOO TBIOWOF 3B MONTFa FHODTRT T AFONEE, B0B) HBOWD.
No. of Shops : ' 91 80 i
eondny ﬁos% :

._]
o]
oo
2
o
=
o
=h
=
®
Ey

0 4000 9000 1500 600

Total advertisement expen&iture (Rs.): 1000 3000 6600 750 400
ROIRD b0 S8, (TA.)

Fit a straight line trend by the method of least squares from the data given below :

391 AeBeRT BF08HT FIF, InE TBHA, 2,080 Bed Seadodd T8 od@) BA0BID :
Yesar: 2013 2014 2015 2016 2017 2018 2019
SRE

Production (in 000 tonnes) : 300 700 600 800 900 700 1000
eusES (000 Lo rve) :

Plot the actual and trend values on graph. Also estimate the production for the
year 2020.

VT Fo3) a;aglg dﬁ%ﬂvaigl dear vgobd rocosd o) 20208¢ IAFT uuaaﬁdafod)ﬁgl
903232,

Estimate the sales for the year 2016 and 2018 from the following table :
591t datdpos Bedo0n 2016 S 20198¢ IRFB SPOIST), WOwR) FPB :

Year : 2013 2014 2015 2016 2017 2018 2019
JIRF
Sales (in 000 tonnes) : 30 25 28 - 40 48

S»oets (000 &m0 ned) :
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From the following information find out the number of employees earning wages
between Rs. 50 and Rs. 70 per day by applying Newton’s method.
Wages (Rs.) per day : Below 20 Below 40 Below 60 Below 80 Below 100
No. of Employees : 250 370 470 540 590

gt 3008300 =$795%302008 Gw. 50 dom Tw 700 I@E &3 BYE, Be3s PRI FFTT
F0a3,0308), r&%ua‘rp DPOIVT RONOT FOBI HROWD !

DT, Se3T (C.nYd) : 20 303 40 803 60 803 80 §03 100 03
FRD 7R 10 R 1)
FP500 Roa; | 250 370 470 540 590

The following data relates to the husbands and wives. Obtain the two regression
equations and determine the wife age when husband age is 28 years and
husband age when wife is 24 years.

39t S,0e300 riod BoB303T Sodart BowoRT ©3208D00 &o¥eTod BDIEFTLNIRVY, TOBO
LBOVD Hort no@s SR, 28 SRFmeiwen BoB3oD SobREy, Bo8y BOBFSOL SadR),
24 SRFNwoR MoEE SobEFY B0R &HBHOWD !

Husband age (years) : 30 “3g SE3geE e L
noBdd S0, (SAFND)

Wives age (years) : g3 25 29" 2 NS
Bowad FodR) (SREND)
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